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QUESTION 1

Given these two classes:

public class Resocurce {
public Worker owner;

public class Worker ({
rivate boolean ready = trus;
public synchronized boolean isReady() {
raturn ready;

L

public synchreonized void work(Worker other,

while (ready) {
while (rescurce.owner != this) {
tzy |
wait (10);
}
catch (InterruptedException e)
'
if (other.isReady()) {
resource.ownsr = other;
}

]

else |
// do work with rescurc
ready = false;

resource.owner = other;

And given this fragment:
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new Thread({( () =->
wZ.work(wl, r)

e T

} ) .startc();

Which describes the fragment?

A. It throws an lllegalMonitorStateException.
B. It is subject to deadlock.

C. It is subject to livelock.

D. The code does not compile.

Correct Answer: B

QUESTION 2
Given:

class Myclass {

public static wvoid main(String [] args) {
System.out.println(arg[l] + "--" + arg[3] + "--" + arg[0]);
}

executed using this command: java Myclass My Car is red What is the output of this class?
A. Car--red--My

B. My--Car--is

C. My--is--java

D. java--Myclass--My

E. Myclass--Car--red

Correct Answer: A
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QUESTION 3

Which two commands are used to identify class and module dependencies? (Choose two.)

A. java --show-module-resolution

B. jmod describe

C. java Hello.java

D. jdeps --list-deps

E. jar --show-module-resolution

Correct Answer: BD

The two commands that can be used to identify class and module dependencies are B. jmod describe and D. jdeps --list-
deps.jmod describe is a command that can be used to display information about the contents of a jmod file, including its

dependencies 1. jdeps --list-deps is a command that can be used to list the dependencies of a Java class file 1jdeps is a
command-line tool that can be used to analyze the static dependencies of Java applications and libraries

QUESTION 4
Given:

public class Main {
public static void main(Stringl[] args) {
try (BufferedReader br = new BufferedReader (new InputStreamReader (System.in));) {
String input = br.readLine(};
System.out.println (™“Input String was: ™ + input);
} catch (IQException e] {
e.printStackTrace ()} ;

}

Which is true?

A. System.out is the standard output stream. The stream is open only when System.out is called.
B. System.in cannot reassign the other stream.

C. System.out is an instance of java.io.OutputStream by default.

D. System.in is the standard input stream. The stream is already open.

Correct Answer: D

Reference: https://www.geeksforgeeks.org/java-lang-system-class-java/

QUESTION 5
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Given:
class Animal { }
class Dog extends Animal { }

class Petdog extends Dog { }

and

1. class House<A extends Animal> {

2 public House<? super Dog> build(A a) {
3. // 1insert code here

4 }

5.}

Which two statements inserted independently on line 3 will make this code compile? (Choose two.)
A. return new House();
B. return new House();
C. return new House();
D. return new House();
E. return new House();

Correct Answer: BC
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